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QUESTION 1

Consider the Information Engineering diagram in the exhibit showing the relations BUILDING and RESIDENT. What is
the relationship between BUILDING and RESIDENT?

BUILDING RESIDENT
*Building_ID I <0 *R_ID
Bldg_MNamea Room_hum
Location Res_Mame
Room_Count Bullding_ID

A 11
B. 1n
C.nim
D. m:n

Correct Answer: B

QUESTION 2

Which type of relational integrity is violated if a primary key in a database has a null value?
A. Entity integrity

B. Domain integrity

C. Domain constraints

D. Referential integrity

Correct Answer: A

QUESTION 3

Which of the following definitions best describes an entity?
A. A single relation

B. Data about data

C. Data stored in a table column

D. An item about which information is stored
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Correct Answer: D

QUESTION 4

Consider the following table as well as the Deptl_Parts and Dept2_Parts relations shown in the exhibit:

Dept1_Parts — u pan_p (Dept2_Paris)

Part_ID | Part_Mamo Discription Supp_ID
03L2 halt hexagon bolt | 221
0322 sCrew CapsCrew 441
ni3z socket screw | butten head | 551
0342 flange Lilind flange 33
0352 socket screw | countersunk | 441

Deptl_Parts Relation

Part_ID | Part_MName Description Supp_ID
n3nz flange

#llp-on flange | 331

03izz screw capscrew 441
o03az socket screw | button head 551
0362 baolt studbolt 441

Dept2 Parts Relation

Which of the following relational algebraic expressions would result in the given table?

Fart D Part_Name Descripbon Supp_|D
Qa2 fiange slip-on flange | 331

| 0312 bolt hexagon bolt | 221
0322 SCIEW CANSCIEW 441
0332 socket screw | button head 551
03472 flange blind flange 331
0352 socket screw | countersunk 441
0362 boit shudboit 441

A Dept1_Parts ) Dept2_Parts

B. Dept2 Parts — Dept1_Parts

2 Dept1_Parts m Dept2_Parts

D. Dept1_Parts X Dept2_Parts

A.B.C.D.
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Correct Answer: A

QUESTION 5

Which statement is used to define a named group of related tables, views, domains and other database objects?
A. CREATE ENTITY

B. CREATE INDEX

C. CREATE DOMAIN

D. CREATE SCHEMA

Correct Answer: D
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